

## **TOWN OF GRAFTON**

Established in 1807
P.O. BOX G, Grafton, New York 12082
(518) 279-3565 (518) 279-3685 (Fax)
Email: graftontownclerk@albany.twcbc.com

www.townofgraftonny.org

### Resolution #61 of 2023

Authorizing the Town Supervisor to execute Contract and Accepting the attached Bid(s)/Proposal(s) from Peckham Road Corp. per the RFP issued by the Town.

Motion Made by Supervisor Gundrum, seconded by Councilman Beaudry

#### Roll Call:

Councilman Beaudry - Yea Councilwoman Deschaine - Yea Councilman Lewandusky – Yea Councilperson Hoyt - Absent Supervisor Gundrum - Yea

Adopted: July 24, 2023



438 Vaughn Road, Hudson Falls, NY 12839 Tel: 518.792.3157 Fax: 518.792.3138 www.peckham.com

То:	Town Of Grafton	Contact: Dan
Address:	Grafton	Phone:
		Fax:
Project Name:	23-7004 - Town Of Grafton	Bid Number: 7004
Project Location:	Various Roads, Grafton, NY	<b>Bid Date:</b> 5/10/2023

110300000	acioni Tanous Rouge) Grancon, ITT			-, -, -, -, -, -, -, -, -, -, -, -, -, -	
Item #	Item Description	Estimated Quantity	Unit	Unit Price	Total Price
Asphalt Adju	ustment				
12	Asphalt Adjustment CRS-2P July 640	14,461.00	GAL	\$0.06	\$867.66
13	Asphalt Adjustment Fog Seal July 640	2,894.00	GAL	\$0.05	\$144.70
		Total Price for above A	sphalt Ad	justment Items:	\$1,012.36
Chip Seal					
1	Josh Hall Pond Rd- 8175 X 22 CRS-2P @ .40 250 Tons Of 1As	7,993.00	GAL	\$3.21	\$25,657.53
2	Kellyer Rd- 4300 X 21 CRS-2P @ .40 125 Tons Of 1As	4,013.00	GAL	\$3.21	\$12,881.73
3	Kautz Hollow Rd- 1530 X 21 CRS-2P @ .40 45 Tons Of 1As	1,428.00	GAL	\$3.21	\$4,583.88
4	Lake View Rd- 1100 X 21 CRS-2P @ .40 32 Tons Of 1As	1,027.00	GAL	\$3.21	\$3,296.67
		Total Price f	for above Chip Seal Items: \$46		\$46,419.81
Emulsions					
5	Josh Hall Pond Rd- 8175 X 22 Fog Seal @ .08	1,600.00	GAL	\$3.00	\$4,800.00
6	Kellyer Rd- 4300 X 21 Fog Seal @ .08	803.00	GAL	\$3.00	\$2,409.00
7	Kautz Hollow Rd- 1530 X 21 Fog Seal @ .08	286.00	GAL	\$3.00	\$858.00
8	Lake View Rd- 1100 X 21 Fog Seal @ .08	205.00	GAL	\$3.00	\$615.00
		Total Price fo	r above E	mulsions Items:	\$8,682.00
Equipment					
9	Chipper W/ Operator	1.00	DY	\$2,500.00	\$2,500.00
10	Distributor (port To Port)	10.00	HR	\$220.00	\$2,200.00
		4.00	PNA /	#3 3E0 00	\$2,350.00
11	Rubber Tire Roller W/ Operator	1.00	DY	\$2,350.00	\$2,330.00

Total Bid Price: \$63,164.17

#### Notes:

- The above prices do not include Permits.
- NYSOGS Asphalt and Fuel Price Adjustments apply May 621 Index
- Quoted prices remain in effect for 30-days
- Customer to locate all Utilities, manholes, catch basins, water valves, etc...



438 Vaughn Road, Hudson Falls, NY 12839 Tel: 518.792.3157 Fax: 518.792.3138 www.peckham.com

То:	Town Of Grafton	Contact:	Dan
Address:	Grafton	Phone:	
		Fax:	
Project Name:	23-7004 - Town Of Grafton	Bid Number:	7004
Project Location:	Various Roads, Grafton, NY	Bid Date:	5/10/2023

- •It is the policy of Peckham Road Corporation to provide equal opportunity to all qualified persons without regard to their race, color, creed, religion, age, sex, national origin, marital status, sexual orientation, or status as a disabled veteran or vet
- Customer to do all trucking and/or hauling
- Customer to do all sweeping
- Customer to do all trimming
- Customer to Provide all Traffic Control
- Customer to Provide Temporary Striping
- Customer to supply stockpile area
- Customer to supply staging area
- · Equipment is based on an 8 hour day and will be charged actual hours
- Mobilization is included
- · Additional oniste mobilization will be charged at \$650 a mob
- · Prices are based off NYS OGS

#### **Payment Terms:**

Payment due within 30 days of date of invoice, regardless of when payment is made by Owner.

ACCEPTED:	CONFIRMED:		
The above prices, specifications and conditions are satisfactory and are hereby accepted.	Peckham Road Corporation		
Buyer:			
Signature:	Authorized Signature:		
Date of Acceptance:	Estimator: Stephanie Randazzo		
	(201) 852-5139 srand@peckham.com		

172 Prospect Hill Road, Brewster, NY 10509 Tel 914.949.2000 Fax 914.949.2075

www.peckham.com

RESOLVED That any one of the following officers of Peckham Road Corp. be and each of them is hereby authorized to sign and submit any and all bids, proposals and contracts advertised pursuant to the provisions of the Laws of the States of New York, Connecticut, Massachusetts, Vermont, Pennsylvania and New Jersey applicable to municipal corporations, public authorities, or any department of the States of New York, Connecticut, Massachusetts, Vermont, Pennsylvania and New Jersey.

President & Chief Executive Officer
Vice President
Assistant Vice President
Assistant Vice President
Assistant Vice President
Secretary/Treasurer
Chief Financial Officer
Assistant Secretary
Assistant Secretary

Damian J. Murphy
Jennifer K. Harvey
Gary W. Metcalf
Peter Simoneau
Christopher Suttmeier
Jordan Parker Mills
Robert Yaremko
Daniel Flannery
Tyler M. Pratt
Richard E. Antes
Germán E. Trivino
Caleb Edelstein
Dominique Bisignano

RESOLVED That the foregoing resolution shall continue in full force and effect unless and until rescinded by action of the Board of Directors of this Corporation and shall apply to all such bids, proposals and contracts made prior to any such rescission of this resolution.

The foregoing is a true and correct copy of the resolution adopted by Peckham Road Corp. at a meeting of its Board of Directors held on the 24th of April 2023, and I hereby certify that this resolution is still in force and effect this \_\_\_\_\_ day of \_\_\_\_\_ 20\_\_.

(Corporate Seal)

Richard E. Antes Secretary/Treasurer

Identifying Data					
Potential Contractor: Peckham Road Corp.					
Address: 438 Vaughn Road, Hudson Falls	s, NY 12839				
Telephone: 518-792-3157					
Title: Assistant Vice President	Title: Assistant Vice President				
If applicable, Responsible Corporate Officer					
Name: Tyler Pratt					
Title: Assistant Vice President					
Signature.					
Joint or combined bids by companies or firms participant.	s must be certified on behalf of each				
Legal name of person, firm or corporation	Legal name of person, firm or corporation				
Ву:					
Name	Name				
Title	Title				
Address:					

Exhibit 1: Non-Collusive Bidding Certification-3

# NON-COLLUSIVE BIDDING CERTIFICATION REQUIRED BY SECTION 139-D OF THE STATE FINANCE LAW

SECTION 1 39-D. Statement of Non-Collusion in bids to the State:

BY SUBMISSION OF THIS BID, BIDDER AND EACH PERSON SIGNING ON BEHALF OF BIDDER CERTIFIES, AND IN THE CASE OF JOINT BID, EACH PARTY THERETO CERTIFIES AS TO ITS OWN ORGANIZATION, UNDER PENALTY OF PERJURY, THAT TO THE BEST OF HIS/HER KNOWLEDGE AND BELIEF:

- [I] The prices of this bid have been arrived at independently, without collusion, consultation, communication, or agreement, for the purposes of restricting competition, as to any matter relating to such prices with any other Bidder or with any competitor,
- [2] Unless otherwise required by law, the prices which have been quoted in this bid have not been knowingly disclosed by the Bidder and will not knowingly be disclosed by the Bidder prior to opening, directly or indirectly, to any other Bidder or to any competitor, and
- [3] No attempt has been made or will be made by the Bidder to induce any other person, partnership or corporation to submit or not to submit a bid for the purpose of restricting competition.

A BID SHALL NOT BE CONSIDERED FOR AWARD NOR SHALL ANY AWARD BE MADE WHERE [1], [2], AND [3] ABOVE HAVE NOT BEEN COMPLIED WITH; PROVIDED HOWEVER, THAT IF IN ANY CASE THE; BIDDER(S) CANNOT MAKE THE FOREGOING CERTIFICATION. THE BIDDER SHALL SO STATE AND SHALL FURNISH BELOW A SIGNED STATEMENT WHICH SETS FORTH IN DETAIL THE REASONS THEREFORE:

[AFFIX ADDENDUM TO THIS PAGE IF SPACE IS REQUIRED FOR STATEMENT.] Subscribed to under penalty of perjury under the laws of the State of New York, this 20th day of July , 2023 as the act and deed of said corporation or partnership.